

THE POWER OF 2 DIVIDING THE COEFFICIENTS OF CERTAIN POWER SERIES

F. T. Howard

Wake Forest University, Box 7388 Reynolda Station, Winston-Salem, NC 27109

(Submitted August 1999-Final Revision January 2000)

1. INTRODUCTION

In this paper we prove a conjecture of Barrucand [1] concerning the highest power of 2 dividing the coefficients of certain formal power series. We also prove a more general result, and we give examples involving the convolved Fibonacci numbers, the convolved generalized Fibonacci numbers, and the Bernoulli numbers (of the first and second kinds) of higher order. The writer believes that all of the results are new.

With the definitions of $v(r)$ and $S(n)$ given below (Definitions 2.1 and 2.2, respectively), the conjecture can be stated as follows.

Theorem 1.1 (Barrucand's Conjecture): Let

$$H(x) = \sum_{n=0}^{\infty} h_n x^n$$

be a formal power series with $h_0 = 1$, $v(h_1) = 1$, and $v(h_n) \geq 1$ for $n \geq 1$. Define a_n by

$$[H(2x)]^{1/2} = \sum_{n=0}^{\infty} a_n x^n.$$

Then $a_0 = 1$, and $v(a_n) = S(n)$ for $n > 0$.

Our main result, Theorem 4.1, generalizes Theorem 1.1 to series of the form $[H(2^k x)]^r$, where r is rational and 2^k ($k \geq 1$) is the highest power of 2 dividing the denominator of r .

A summary by sections follows. Section 2 is a preliminary section in which we state the basic definitions and lemmas that are needed. In Section 3 we furnish a proof of Theorem 1.1, and give three examples. The first example provides a new proof of a well-known formula for the highest power of 2 dividing $n!$. The second example, involving a theta function, was the original motivation for Theorem 1.1. The third example determines a formula for the highest power of 2 dividing the n^{th} Catalan number. In Section 4 we prove the main result, Theorem 4.1, which generalizes Theorem 1.1. In Section 5 we give examples of Theorem 4.1 that involve Fibonacci numbers and Bernoulli numbers.

2. PRELIMINARIES

We use the following definitions of $v(r)$ and $S(n)$.

Definition 2.1: Let $r = u/v$ be a rational number with $\gcd(u, v) = 1$. Define $v(r)$ to be the exponent of the highest power of 2 that divides r . That is, if $v(r) > 0$, then $2^{v(r)} \parallel u$; if $v(r) < 0$, then $2^{-v(r)} \parallel v$; if $v(r) = 0$, then u and v are both odd.

Definition 2.2: Let n be a positive integer with the following base 2 representation:

$$n = n_0 + n_1 2 + n_2 2^2 + \dots + n_k 2^k \quad (\text{each } n_i = 0 \text{ or } 1).$$

Define $S(n) = n_0 + n_1 + \dots + n_k$, the sum of the binary digits of n .

All infinite series in this paper are "formal" with rational coefficients. A good reference for the theory of formal power series, and the properties of such series, is [5]. Of particular relevance for this paper is the binomial theorem (Theorem 17 in [5]), which can be stated as follows.

Lemma 2.1: Let r be a rational number, and let $F(x)$ be the formal power series:

$$F(x) = 1 + \sum_{n=1}^{\infty} f_n x^n = 1 + F_1(x).$$

Then

$$[F(x)]^r = 1 + \sum_{n=1}^{\infty} \binom{r}{n} [F_1(x)]^n,$$

where $\binom{r}{n} = r(r-1)\dots(r-n+1)/n!$.

We need the next lemma for Example 3.1 in the next section.

Lemma 2.2: Let n be a positive integer, and $v(n)$ be defined by Definition 2.1. Then $v(n!) < n$.

Proof: We use induction on n . Clearly Lemma 2.2 is true for $n = 1$ and $n = 2$; assume that $v(j!) < j$ for $j = 1, 2, \dots, n-1$. If n is even, let $n = 2m$ ($m > 1$), so

$$n! = [1 \cdot 3 \dots (2m-1)][2 \cdot 4 \dots 2m] = [1 \cdot 3 \dots (2m-1)]2^m m!. \tag{2.1}$$

By the induction hypothesis, $v(m!) < m$, so by (2.1) we have $v(n!) < 2m$; that is, $v(n!) < n$. The proof for odd n is entirely similar. \square

3. PROOF OF BARRUCAND'S CONJECTURE

We use the notation in the statement of Theorem 1.1. It is clear from Lemma 2.1 that $a_0 = 1$; in fact, we could use the binomial theorem to determine a_1 and a_2 as well, but the following combinatorial approach is more useful. Since

$$H(2x) = \left(\sum_{n=0}^{\infty} a_n x^n \right)^2,$$

we have

$$2^n h_n = \sum_{k=0}^n a_k a_{n-k},$$

so that

$$a_n = 2^{n-1} h_n - \frac{1}{2} \sum_{j=1}^{n-1} a_j a_{n-j} \quad (n \geq 1). \tag{3.1}$$

Thus, $a_1 = h_1$ and $a_2 = 2h_2 - \frac{1}{2}(a_1)^2$, and the conjecture is true for $n = 0, 1, 2$. We now use induction on n in equation (3.1). Assume $v(a_j) = S(j)$ for $j = 1, \dots, n-1$, and define M as follows:

$$M = \text{the minimum value of } v(a_j a_{n-j}) \text{ for } j = 1, \dots, n-1.$$

Case 1: $n = 2^t$, with $t > 1$. It is clear that $M = 2 = v(a_j a_j)$, where $j = 2^{t-1}$. Thus, by (3.1), $v(a_n) = 1 = S(n)$.

Case 2: $n = 2^{e_1} + 2^{e_2} + \dots + 2^{e_t}$, with $0 \leq e_1 < e_2 < \dots < e_t$, and $n \neq 2^{e_t}$. It is clear from the induction hypothesis that M is at least equal to t . In fact, it is clear (because of no "carries") that M occurs when

$$j = c_1 2^{e_1} + c_2 2^{e_2} + \dots + c_t 2^{e_t} \quad (\text{each } c_i = 0 \text{ or } 1).$$

There are $2^t - 2$ such terms (the -2 represents the cases $c_i = 0$ for all i and $c_i = 1$ for all i). Thus,

$$M = S(j) + S(n - j) = S(n),$$

and by (3.1),

$$2^{-M} a_n \equiv -\frac{1}{2}(2^t - 2) \equiv 1 \pmod{2},$$

that is, $v(a_n) = S(n)$. This completes the proof. \square

The following examples provide some motivation for Theorem 1.1. The first example is a new proof of a well-known and useful formula for $v(n!)$.

Example 3.1: Let

$$H(x) = e^{2x} = 1 + 2x + \sum_{n=2}^{\infty} \frac{2^n}{n!} x^n.$$

By Lemma 2.2, we know that $v(2^n/n!) \geq 1$ for $n \geq 1$, so we can apply Theorem 1.1 to $H(x)$. Since $[H(2x)]^{1/2} = e^{2x}$, Theorem 1.1 says that $v(2^n/n!) = S(n)$ for $n \geq 1$; that is, $v(n!) = n - S(n)$.

The second example was the original motivation for Theorem 1.1. It involves the theta function (see [7], Chapter 20):

$$\theta(x) = 1 + 2 \sum_{n=1}^{\infty} x^{n^2}. \tag{3.2}$$

Example 3.2: Let $\theta(x)$ be defined by (3.2). Theorem 1.1 says that

$$[\theta(2x)]^{1/2} = 1 + \sum_{n=1}^{\infty} 2^{S(n)} I_n x^n,$$

where I_n is rational and $v(I_n) = 0$. In fact, by Lemma 2.1, I_n is an odd integer.

Barrucand [1] has pointed out that $\theta(x)$ is a modular form, and it is very striking that the determination of the 2-valuation for $\sqrt{\theta(2x)}$ is so simple.

Example 3.3: Let $C_n = \frac{1}{n+1} \binom{2n}{n}$, the n^{th} Catalan number, with generating function (see [8], p. 82):

$$\frac{1 - \sqrt{1 - 4x}}{2x} = \sum_{n=0}^{\infty} C_n x^n.$$

If we let $H(x) = 1 - 2x$, then

$$[H(2x)]^{1/2} = 1 - \sum_{n=0}^{\infty} 2C_n x^{n+1},$$

and Theorem 1.1 says that $2^{S(n+1)-1}$ is the highest power of 2 dividing C_n .

4. GENERALIZATION OF BARRUCAND'S CONJECTURE

Throughout this section we assume $H(x)$ is defined by

$$H(x) = \sum_{n=0}^{\infty} h_n x^n,$$

with $h_0 = 1$, $v(h_1) = 1$, and $v(h_n) \geq 1$ for $n \geq 1$.

The proof of the main result, Theorem 4.1, depends on the following two lemmas.

Lemma 4.1: For $k \geq 1$, define $h_{n,k}$ by

$$[H(2^k x)]^{2^{-k}} = \sum_{n=0}^{\infty} h_{n,k} x^n.$$

Then $h_{0,k} = 1$, and $v(h_{n,k}) = S(n)$ for $n \geq 1$.

Proof: The proof is by induction on k . By Theorem 1.1, we know the lemma is true for $k = 1$. Assume it is true for a fixed $k \geq 1$, so that $h_{0,k} = 1$ and $v(h_{n,k}) = S(n)$ for $n \geq 1$. Therefore, $v(h_{1,k}) = 1$, and $v(h_{n,k}) \geq 1$ for $n \geq 1$. Now we can use Theorem 1.1 again, starting with

$$[H(2^k x)]^{2^{-k}} = \sum_{n=0}^{\infty} h_{n,k} x^n$$

instead of $H(x)$, to get $h_{0,k+1} = 1$ and $v(h_{n,k+1}) = S(n)$. This completes the proof. \square

Lemma 4.2: Let $r = \frac{u}{w}$, where u and w are odd integers with $\gcd(u, w) = 1$. Define $h_n^{(r)}$ by

$$[H(x)]^r = \sum_{n=0}^{\infty} h_n^{(r)} x^n. \tag{4.1}$$

Then $h_0^{(r)} = 1$, $v(h_1^{(r)}) = 1$, and $v(h_n^{(r)}) \geq 1$ for $n \geq 1$.

Proof: We first consider the case when $w = 1$. Since u is an odd integer (positive or negative), it is clear from Lemma 2.1 that $h_0^{(u)} = 1$, $v(h_1^{(u)}) = v(uh_1) = 1$, and $v(h_n^{(u)}) \geq 1$ for $n \geq 1$.

Barrucand [1] has pointed out that it is possible to use Lemma 2.1 to get the desired result for $r = \frac{u}{w}$ ($w \geq 1$). However, we present here a simple combinatorial proof. Suppose $w > 1$, and let $H_1(x) = [H(x)]^u$. For convenience, and to make the rest of the proof more readable, we will use the notation $g_n = h_n^{(u/w)}$. Thus, we can write

$$[H_1(x)]^{1/w} = [H(x)]^{u/w} = \sum_{n=0}^{\infty} g_n x^n$$

and

$$H_1(x) = \left(\sum_{n=0}^{\infty} g_n x^n \right)^w. \tag{4.2}$$

We see that $1 = (g_0)^w$, which implies $g_0 = 1$. By (4.2), we also have $h_1^{(u)} = wg_1$, which implies $v(g_1) = v(h_1^{(u)}) = 1$. For $n \geq 1$, we have, by (4.2),

$$h_n^{(u)} = \sum g_{n_1} g_{n_2} \cdots g_{n_w}, \tag{4.3}$$

where the summation is over all n_1, n_2, \dots, n_w such that $0 \leq n_i \leq n$ ($i = 1, \dots, w$), and $n_1 + n_2 + \cdots + n_w = n$. We rewrite (4.3) in the form

$$wg_n = h_n^{(u)} - \sum g_{n_1} g_{n_2} \dots g_{n_w},$$

with $0 \leq n_i < n$ ($i = 1, \dots, w$). It is now clear that we can use induction on n to prove that $2 \mid g_n$, for $n \geq 1$. Thus, $v(g_n) \geq 1$ for $n \geq 1$. This completes the proof. \square

Theorem 4.1: Let

$$H(x) = \sum_{n=0}^{\infty} h_n x^n$$

with $h_0 = 1$, $v(h_1) = 1$, and $v(h_n) \geq 1$ for $n \geq 1$. Let $r = u/v$ be a rational number with $\gcd(u, v) = 1$, and suppose $2^k \parallel v$, with $k \geq 1$. Define $h_{n,k}^{(r)}$ by

$$[H(2^k x)]^r = \sum_{n=0}^{\infty} h_{n,k}^{(r)} x^n.$$

Then $h_{0,k}^{(r)} = 1$, and $v(h_{n,k}^{(r)}) = S(n)$ for $n \geq 1$.

Proof: Let $v = 2^k w$, so w is an odd integer. By Lemma 4.2, we know that the numbers g_n defined by

$$[H(x)]^{u/w} = \sum_{n=0}^{\infty} g_n x^n$$

have the properties $g_0 = 1$, $v(g_1) = 1$, and $v(g_n) \geq 1$ for $n \geq 1$. Thus, if we use $[H(x)]^{u/w}$ instead of $H(x)$ in Lemma 4.1, the proof of Theorem 4.1 follows immediately. \square

5. EXAMPLES

In all of the examples, we assume r is defined as follows:

$$r = \frac{u}{v} \text{ is a rational number (positive or negative); } \gcd(u, v) = 1; 2^k \parallel v \text{ for } k \geq 1. \quad (5.1)$$

Example 5.1 (Convolved Fibonacci Numbers): Let

$$H(x) = \frac{1}{1-2x-4x^2} = \sum_{n=0}^{\infty} 2^n F_{n+1} x^n,$$

where F_{n+1} is the Fibonacci number. Note that $F_1 = 1$, $v(2F_2) = 1$, and $v(2^n F_{n+1}) \geq 1$ for $n \geq 1$. Thus, we can apply Theorem 4.1 to $H(x)$ to get results for the "convolved" Fibonacci numbers of rational order, $F_{n+1}^{(j)}$ (see [8], p. 89). These numbers are defined by

$$\left(\frac{1}{1-x-x^2} \right)^j = \sum_{n=0}^{\infty} F_{n+1}^{(j)} x^n,$$

and Theorem 4.1 gives the following result for $n \geq 1$ and r defined by (5.1):

$$v(F_{n+1}^{(r)}) = S(n) - (k+1)n.$$

Example 5.2 (Generalized Convolved Fibonacci Numbers): Let p, q , and b be rational numbers such that $v(p) \geq 0$, $v(q) \geq 0$, and $v(b) = 0$. That is, p and q are 2-integral, and b is the quotient of two odd integers. Consider the following generalization of the Fibonacci numbers. Let $w_1 = 1$, $w_2 = b$, and, for $n \geq 3$,

$$w_n = pw_{n-1} - qw_{n-2}. \tag{5.2}$$

We define the generalized convolved Fibonacci numbers, $w_{n+1}^{(j)}$, by means of

$$\left(\frac{1 + (b-p)x}{1 - px + qx^2} \right)^j = \sum_{n=0}^{\infty} w_{n+1}^{(j)} x^n.$$

To the writer's knowledge, these numbers have not been studied before. Note that $w_{n+1}^{(1)} = w_{n+1}$; also, if $p = 1$, $q = -1$, and $b = 1$, then $w_{n+1} = F_{n+1}$. More generally, we see that $w_1 = 1$, $v(2w_2) = 1$, and, by recurrence (5.2), it is clear that $v(2^n w_{n+1}) \geq 1$ for $n \geq 1$. Thus, we can start with

$$H(x) = \frac{1 + (b-p)(2x)}{1 - 2px + 4qx^2} = \sum_{n=0}^{\infty} 2^n w_{n+1} x^n,$$

and apply Theorem 4.1 to get the following result for $n \geq 1$ and r defined by (5.1):

$$v(w_{n+1}^{(r)}) = S(n) - (k+1)n.$$

Example 5.3 (Bernoulli Numbers of Higher Order): The Bernoulli number of higher (rational) order, $B_n^{(j)}$, may be defined by means of

$$\left(\frac{x}{e^x - 1} \right)^j = \sum_{n=0}^{\infty} B_n^{(j)} \frac{x^n}{n!}.$$

These numbers were evidently first introduced by Nörlund (see [6], Ch. 6), and they have been the subject of many papers (for integer j especially). The numbers $B_n = B_n^{(1)}$ are the ordinary Bernoulli numbers, and the following facts are well known: $B_0 = 1$, $B_1 = -1/2$, $B_n = 0$ if n is odd ($n > 1$), and $v(B_{2n}) = -1$ if $n \geq 1$. Thus, we can start with

$$H(x) = \frac{4x}{e^{4x} - 1} = \sum_{n=0}^{\infty} 4^n B_n \frac{x^n}{n!},$$

and apply Theorem 4.1 to get the following result for $n \geq 1$ and r defined by (5.1):

$$v(B_n^{(r)}) = -(k+1)n.$$

We note that this is a special case of a theorem of Carlitz [2] for the Nörlund polynomial $B_n^{(x)}$.

Example 5.4 (Higher-Order Bernoulli Numbers of the Second Kind): The higher-order Bernoulli number of the second kind, $b_n^{(j)}$, can be defined by

$$\left(\frac{x}{\log(1+x)} \right)^j = \sum_{n=0}^{\infty} b_n^{(j)} x^n.$$

The numbers $b_n^{(1)} = b_n$ are the Bernoulli numbers of the second kind defined by Jordan [4]. It is known [3] that $b_0 = 1$, $b_1 = 1/2$, and $v(b_n) = -n$ for $n \geq 1$. To the author's knowledge, the numbers $b_n^{(j)}$ for $j \neq 1$ have not been studied. If we start with

$$H(x) = \frac{4x}{\log(1+4x)} = \sum_{n=0}^{\infty} 4^n b_n x^n,$$

and apply Theorem 4.1, we get the following result for $n \geq 1$ and r defined by (5.1):

$$v(b_n^{(r)}) = S(n) - (k+2)n.$$

6. FINAL COMMENTS

The writer thanks P. Barrucand for his many insights and suggestions.

The simple combinatorial methods of this paper do not seem to work for primes other than 2. Thus, the problem of determining the highest power of 3 (or any other odd prime) dividing numbers generated by a rational power of a generating function is, in general, difficult, and it will probably require a different approach.

REFERENCES

1. P. Barrucand. Letters to the author, 1998-1999.
2. L. Carlitz. "Some Properties of the Nörlund Polynomial $B_n^{(x)}$." *Mathematische Nachrichten* **33** (1967):297-311.
3. F. T. Howard. "Nörlund's Number $B_n^{(n)}$." In *Fibonacci Numbers and Their Applications* **5**: 355-66. Ed. G. E. Bergum et al. Dordrecht: Kluwer, 1993.
4. C. Jordan. *Calculus of Finite Differences*. New York: Chelsea, 1965.
5. I. Niven. "Formal Power Series." *Amer. Math. Monthly* **76** (1969):871-89.
6. N. Nörlund. *Vorlesungen Über Differenzenrechnung*. New York: Chelsea, 1954.
7. E. D. Rainville. *Special Functions*. New York: Macmillan, 1960.
8. J. Riordan. *Combinatorial Identities*. New York: John Wiley & Sons, 1968.

AMS Classification Numbers: 05A15, 11B39



NEW PROBLEM WEB SITE

Readers of *The Fibonacci Quarterly* will be pleased to know that many of its problems can now be searched electronically (at no charge) on the World Wide Web at

<http://problems.math.umr.edu>

Over 20,000 problems from 38 journals and 21 contests are referenced by the site, which was developed by Stanley Rabinowitz's MathPro Press. Ample hosting space for the site was generously provided by the Department of Mathematics and Statistics at the University of Missouri-Rolla, through Leon M. Hall, Chair.

Problem statements are included in most cases, along with proposers, solvers (whose solutions were published), and other relevant bibliographic information. Difficulty and subject matter vary widely; almost any mathematical topic can be found.

The site is being operated on a volunteer basis. Anyone who can donate journal issues or their time is encouraged to do so. For further information, write to:

Mr. Mark Bowron
 Director of Operations, MathPro Press
 P.O. Box 713
 Westford, MA 01886 USA
bowron@my-deja.com